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20254 KR IKGHHAT-Z0B IS HIX 4 400

2 RAR e wr TP B R aw | BB i
1 KR — P 2 BRI LN aik | Bk / i
2 KRS — 2 HR £ TUE WrAEH | Ak / Hi%
30| KERIEERMEANY | NEOHEREOT | T | AR / Hi%
4 KR X AU 2 PIFhEE SR BOE | KR 75.54| 75.54 | 1 A%
5 R X B 27 PR BEEIT | MR 84.28| 84.28 1 Ei
6 K AR X Ik /N NEBESEREOT | RO 78.36| 78.36 | 1 Gy
7| KR N INFHCE U 72 77.84| 77.84 | 1 Gy
8 KR KRR 1% N TR (R FE B P5 77.48]| 77.48 1 Btk
9 KR XYL /N NEETE ST YL 75.02| 75.02 [ 2 B
10 KRR 2 rheAl 2 U FliiE 79.56 | 79. 56 1 Ei
11 KARH—h rh Al 2 U B e 76.34| 76.34 [ 2 G
12 KR SR U (RN 75.8 | 75.8 3 i
13 KRB & 22 4% SIEZ i U 4E 4.7 | T4.7 4 G
14 KR Hhg AR IO REA 84.98| 84.98 1 G
15 KRR rha R YU LNl 82.84| 82.84 2 Hik
16 KIRHRME 22 rh RO HRE 78.94| 78.94 3 “i%
17 KIRH—rha rh ey A 75.52( 75. 52 1 G
18 KRS —rha rh I TE U A 87.8 | 87.8 1 G
19 KIRE Hh 2 SR XIFFR 84.86 | 84.86 2 GLi
20 KR mg rhE S XA 82.66| 82.66 1 Eik
21 KRR 2 FhE A U PR 79.6 | 79.6 1 Btk
22 KRB £ 24 ARG BOT | 72.7 | 72.7 1 Gy
23 KIRHRME 22 T ER A AR 2T TR 80. 44 | 80. 44 1 Hik
24 KIRBUL B2 HIRAE =LA BIn | TkefE— 78.2 | 78.2 1 Eik
25 KRB L 224 R 245 75 Ll B 1% 77.24| 77.24 1 G
26 KRS N NI ST nE &% | Bk / i
27 KRB 245 2 b 34 T WRA i 80.2 | 80.2 1 Gy
28 KR 2 I A= sk el 85.4 | 85.4 1 A




5 AR T e | SRR BB S| aw | BRS o
29 KRS o2 5 R 7 77 1 “
30 KRR Hh SR U X7 78.4 | 78.4 1 G
31 KRB 22 4% FhE U P 78.2 | 78.2 1 i
32 KRR Hp A LU 45 73.8 | 73.8 1 Ei
33 KRB 2 B SC O WA 75.8 | 75.8 1 H%
34 KR HABH 2 L& AL 74.4 | T4.4 1 Ak
35 KRS R E WriE 77.3 | 77.3 1 A%
36 KRB 22 A% rh A BOE HOT 1G] 77.04| 77.04 | 1 GLi
37 KRS = Hh 2 PO N4 77.28]| 77.28 1 i
38 KR AR 2 2 S B HU R 78.54| 78.54 | 1 ik
39 KR =rh rheA R RO e 75.88 | 75. 88 2 rid
40 KR Fh AR SR Al 77.46| 77.46 1 G
41 KRR AR S ZAIE 76.26| 76.26 | 2 Erid
42 KR —rh2 Fh A SR R 76.22| 76.22 | 3 Gl
43 KEFE Hh AR LU ZINSRE 75.72| 75.72 | 4 Bk
44 KRR HIPIEE S PR HT | BRE 71.92| 71.92 1 G
45 K IR S 2 I SR i 78.18| 78.18 | 1 H%
46 KR 2 I L U PR ik 78.24| 78.24 | 1 ik
47 KRR 2 HIrpPEE A FT 77.02| 77.02 | 2 “ik
48 K IR IR /N 2 ANEFEAT LU R 1|11 1 Gr
49 AR % /N2 NEEYEE T i 77.06| 77.06 1 Exis
50 AR s 4 Ll 4Jy) LIzl 0T BF5H 72.92( 72.92 | 1 G
51 KRB 2 PIhiEE SR EE | B 83.74( 83.74 | 1 A%
52 KR —rhat Hh SRS ¥ HE I 81 81 1 G
53 AR XY iy WP G 590 | XIKE | 67.2 |81.04] 74.12 1 G
54 KR DR 27 I iEE S H0N | BRRIR |64.533|81.26(72.897| 2 %
55 R X A FH 2 A7 e A |65.867|81.58(73.723| 1 i
56 KRR ARl 2 I e 3 s AR | 69.8 | 86.7( 78.25 | 1 Exi
57 KR IX UG H 2 LR S BERME | 67.6 |84.42] 76.01 | 1 Hik
58 IR XU 2 I d] BEt® |60.067(80.58|70.323| 1 Hik
59 KIRIX R MR e B BRHE | 57.6 [81.44| 69.52 | 2 Gl
60 K IR X AEBA 2 W HE B WEME | 52 |86.22] 69.11 3 ik
61 R IX A L I A O Mg |53.333|84.78(69.057| 4 Gy




5 AR T e | SRR BB S| aw | BRS o
62 IR X RA 2 I B A W% 167.467(84.06|75.763 | 1 Hik
63 IR X IR 2 WL RBE PO | BfEEE | 76 | 85.06| 80.53 1 rid
64 IR X R 2 HIrpYEE A RAMEFT |77.733]83.32(80.527( 1 Hik
65 IR X K 2 I BB AU I [73.467(84.38(78.923| 2 Eik
66 IR X ek 2 I BB AU Mg |74.467|80.58|77.523| 3 G
67 AR X i v 22 I SCHUT FKHME |72.933|84.54(78.737| 1 Gy
68 KARIX A Frg I B SCHU b | 58.8 |84.54| 71.67 | 2 Gr
69 | IR 2 AL B Ao ANERUE T M2y [70.667(81.9676.313| 1 G
70 K IR XA W N ANEEYEER T TR [78.733]82.22(80.477| 1 G
71 K AR XV A0 /N NS HUT 3 74 | 85.62| 79.81 2 G
72| SRS M /N ANEAT SCHUT YrE8E |82.733(85.58(84. 157 1 G
73 KR X 4 Ll 4 LEE B PRt |65.333(87.48] 76.407 | 1 Gl
74 KR Hh 2 R MREEBT |66.867(84.94]75.903| 1 G
75 KR = Hh 2 3R B MIE% |69.333]78.02|73.677| 2 Hi%
76 KIRE e rhA U MRS [73.933]84.42(79.177| 1 Hik
77 KARE rheA U WA | 69.6 |84.78 77.19 2 Hik
78 KIRm g SIES /e TR |69.667(82.66(76.163| 3 G
79 KR SIES VeSS Bixk  |68.267|80.68| 74.473 | 4 Eik
80 S ANGE S o 2 2 M |64.93383.66 | 74.297| 5 ey
81 KIRH Zh % Fp 2R 2 H O MAEDE [63.933]83.98(73.957| 6 Gl
82 KRB 22 A% SIES VeSS AT |67.467|78.76| 73. 113 7 Eik
83 KR = rh2 SIES VeSS WMIEE | 65.4 [80.12] 72.76 | 8 G
84 KARH = SIES eSS FHHL |62.467| 82.7 | 72.583 [ 9 Eik
85 KRBT SIS E Sl LW |60.667|84.38(72.523| 11 Eik
86 KIREE-Lhe SIES eSS ARG |62.333] 80.7 | 71517 12 | 10478, @A
87 KR —rh T BARBUABUT | BREM | 70.2 [81.16] 75.68 | 1 Exi
88 KRB T Hh 2 AR A S0 WHE  |65.333[80.88(73.107| 3 Hik
89 KR = Hh 22 AR BRI fTZAE |57.867|88. 14| 73.003 [ 4 Hik
90 KIREE—rhas Hh 2 BRI FRASH] |79.533]83.74|81.637| 1 Hik
91 KRmghe Hp A LU ME¥E [80.867|80.34(80.603| 2 G




5 AR T e | SRR BB S| aw | BRS o
92 KRG N Hh ) B MRiERE | 77.2 |83.24| 80.22 3 Hik
93 AR 224 rhE ) B FETRHE |78.267|81.88(80.073 [ 4 rid
94 KIRE ey o 24 3 K775 (71,933 79.12 | 75.527| 5 %
95 KRB =rh % Gy B eI YT HAfE |69.067(80.42| 74.743| 6 Eik
96 KARH T Gy b B YT WEM |67.133| 81.8 | 74.467| 7 G
97 KIRH—rha 2 U wilsEE |72.533] 86.3 [ 79.417| 1 Hik
98 KARH I GG U YREFHA | 75.2 |80.72| 77.96 | 2 Hik
99 KRB =% rh 2 SE U T3 |72.333(83.22| 77. 777 3 Hik
100 KARH—rha Hp AT SO MrfER | 79.4 [85.02( 82.21 1 ey
101 KARHLh AT SO MEH | 75.6 |87.12] 81.36 | 2 Eik
102 KRB =2 A E S EIERYL |71.933) 86.3 [ 79.117| 3 ey
103 KR == AT SO M | 75 [82.64| 78.82 | 4 ey
104 KARH I Hh AR SR MrfE2 |69.867|86.56(78.213| 5 G
105 KRB 224 HHER Rl U B} |84.333[ 81.9 | 83. 117 1 Hik
106 AR 224 FHHR g sk 30 JA+i& [76.867|81.66 [ 79.263| 1 G
107 KRB & 224 HHHR 2 BT 20R 20 MRAEME |81.667|87.48]84.573 | 1 Hik




